7-1,2 Solutions
Solve each system with the Substitution method or the Linear Transformation method. You may choose to check them with your graphing
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20) o

67) 6m x 9m

69) 9m x 12m

61) $5,000

62) $5,000

38) {(-4,5)}

53) 6.667L and 3.333L

Challenge Problems.
§
é q 41 *
o L e 022260 0) 2
y=20*=-2x2+1) \xx,,,l = XH,Z)(L*]
g 1
Oz X-¥% .
0= x(x=1)
s 52

i %(O/z)(-\,o\)(;,o)z

Zfb(?: B \
NORMAL FLOAT AUTO REAL RADIAN MP n
CALC INTERSECT
Y2=3+In(X

"

Intersection
¥X=0.2867132 Y=1.750727

7 x+y=4"> Yz-xX+7
,—N

x2 + y2 —4x =0
2

XZJ« (x+Y) - Hy =0
2 .‘Z\fo\.L——ﬁ -
%4 x-Gx w L% =
|
(21 yle=o)z)
Wi bx+3 =0

x-9x-2) = ©

oy




